






Justinw
Typewritten Text
3) Insert the adjustable foot (#4) to support frame (#2), then place floor protector (#C) on it.

Justinw
Rectangle

Justinw
Line

Justinw
Line

Justinw
Typewritten Text
1) Align the support frame (#2) to the holes on the top panel (#1), then insert bolt (#A) into each hole. Secure using the Allen wrench.

Justinw
Rectangle

Justinw
Line

Justinw
Typewritten Text
2) Align the connect tube (#3) to the holes on the support frame (#2), then insert bolts (#B) into each hole. Secure using Allen wrench.

Justinw
Rectangle

Justinw
Line

Justinw
Typewritten Text
Insert bracket (#G) to the wall, then put metal plate (#F) onto screw (#E). Secure with screwdriver.

Justinw
Rectangle











Val
Typewritten Text
Align the shelves (#3) to the holes along
the side frames (#2), then insert a bolt (#A)
into each hole. Secure using the Allen wrench.


Val
Typewritten Text

Val
Typewritten Text
Note, insert 
the bracket 
(#F) into this bolt.

Val
Rectangle

Val
Line

Val
Rectangle

Val
Line

Val
Typewritten Text
1. Align a washer (#B) to the 
    top panel (#1), then align 
    to the top of the side frames. 
    Insert a bolt (#A) and secure.

Val
Typewritten Text

Val
Typewritten Text

Val
Typewritten Text

Val
Typewritten Text

Val
Typewritten Text

Val
Typewritten Text

Val
Typewritten Text

Val
Typewritten Text
2. Insert the foot (#4) 
    into each end, turn 
    right to tighten.

Val
Typewritten Text
3. Apply a floor protector
    (#C) onto each foot (#4).

Val
Rectangle

Val
Line

Val
Rectangle

Val
Line

Val
Rectangle

Val
Line



Val
Typewritten Text
1. Drill a hole slightly smaller
    than the anchor (#G), then 
    insert the anchor until secured.
2. Align a bracket (#F) to the 
    anchor, then insert a screw 
    (#E). Secure using a screwdriver.

Val
Typewritten Text

Val
Typewritten Text

Val
Rectangle

Val
Typewritten Text
Insert the gird (#H) into the 
brackets, adjust as needed.

Val
Typewritten Text

Val
Rectangle











Val
Typewritten Text
1. Align a washer (#D) then the support frames 
    (#2), insert a bolt (#B) into each and secure.

Val
Typewritten Text

Val
Typewritten Text

Val
Rectangle

Val
Line

Val
Typewritten Text
2. Align the connect tubes (#3) to
    the holes along the frames, then
    insert the bolts (#A) and secure.

Val
Typewritten Text

Val
Typewritten Text

Val
Rectangle

Val
Line

Val
Typewritten Text
1. Align the shelf (#4) to the to 
    the holes along the frame ends.  
    Insert a bolt (#B) and secure.

Val
Typewritten Text

Val
Typewritten Text

Val
Typewritten Text

Val
Typewritten Text

Val
Rectangle

Val
Line

Val
Typewritten Text
2. Insert the adjustable foots (#5), turn right to 
    tighten. Then place a floor protector (#E) onto each.

Val
Typewritten Text

Val
Typewritten Text

Val
Typewritten Text

Val
Typewritten Text

Val
Rectangle

Val
Line

Val
Line




	CM5913BR.pdf (p.1-5)
	CM5913PC.pdf (p.6-11)
	CM5913TV.pdf (p.12-16)

